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1. Choose the correct option : 1x6=6

(@) In a relational database, a referential
integrity constraint is specified with the
help of

(i) primary key
() foreign key |
() consistency key

() candidate key !
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(b} A relational schema R is in 3rd norma] () A functional dependep

« - o Cy of t
form if In x>y is trivial if he form
) each non-prime attribute of R is ¥ (i) ycx
dent on every k

fully depen 1y key (i) ye x
(@ all attributes in R have atomjc

domains @ xcy
(@ R satisfies 2nd normal form andg (iv) xcy and yc x

no non-prime attribute of R g .

transitively dependent on the () The column of a table is referred to ag

primary - key (i) tuple

(w) R contains only 3 keys and all
these 3 keys are primary

. : i) enti
() Which of the following is not a function (1) ty
of DBA? (iv) degree

(i) attribute

) Network management Answer the following i

(@)
(b)
(c)

2%6=12

i Routine maintenance i
(a) . Mention two advantages of using DBMS.

(@) Schema definition

’ Define instance and schema.
(i) Authorization of data access

What is a data dictionary?
(d) The concept of locking can be used to

solve the problem of @ Describe the two types of participant

) Constraints.
) lost update -
i) wn ctiod "2 . (€ Mention the various user privileges.
commi ependen A .
(@) inconsistent d O When IS a transaction rolled back?
stent data ] What ; y _ |
(iv) deadlock = IS an object-relational database?
- ued) Plx.
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3. Answer any five from the following :

(@) Explain the difference between

externaJ,
internal and conceptual sche

mas,

(b) Explain with examples how
and foreign key concepts
relational data model.

Primary key
are usefy] ip

(c) Explain second normal form with an
example.

(d)

Describe different recovery techniques.

(e) Describe the following
providing security for g

6
in terms of
database :

2+2+2=6
(1) Authorization

(W) Backup
(11i) Integrity

What is transaction? Why is transac-
tion Importan

t limit of operations in a 6
DBMS? 2+4=

() Write short notes op (any two) : Pt
(i) Hierarchicg] model

(W Distribyteq databases

(i) Multimegig databases

(iv) Functiong) dependency
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